CHM151 Quiz 5a 25 Pts Fall 2012 Name: /Qe;}
**k**SHOW ALL WORK TO RECEIVE CREDIT*****

1.(6 Pts) Write the total ionic and the net ionic equations for each of the following reactions.
a. Pb(NOs)(aq) + 2NH4Cl(aq) — QNH4N03(aq) + PbCly(s)
2Lt _ has - ¢ -
total ionic: PA + ANO; ¥+ ANy + 2L = QNHL, + 2N03 + %CLQGQ

PIPY 4 2wt = MW, 6

net ionic:
b. HNOs(aq) + KOH(aq) —> H,O() + KNOs(aq)
otal ionic: t O - 8 T = ‘ la -
watione:  HE+ N0y~ + NTe O™ > H 0@ v A7+ wo,

net fonic: Ht + 0k — His(y

“ HF@a) + KOH(s)—>  HO00) + KF(aq)
total fonic: |3 F@,,) t KOkg = H. o) + Kt + B~
EdkTror™

+ Kohe = Hoe) * k¥

—

- HF
net ionic: f’}‘) '
ZQ‘U Hr + 06N -97“\ Hio @) + F
' R ¥ N
2. (8 Pts) Given the reaction: 4NHj; + 3Ca@0)2 - 2@2 + 6H,0 + 3C:g?
3 -

a. N is oxidized froma —.3 charge to a o charge.
I+ .
b. L isreduced froma _ + | chargetoa — { ~_charge.
C. CCL(U-O) 2 is the oxidizing agentand  /\/ H3 is the reducing agent.
3. (5 Pts) A 4.691 g sample of MgCl, is dissolved in enough water to give 750. mL of solution.

a. What is the magnesium ion concentration in this solution?
H CUgMy s | ol | Joanol my™) -
| 75.205 [ I mol e, [0, 7500

b. What is the chloride ion concentration is this solution?
S MRt Cove _
4. (6 Pts) 34.62 mL of 0.1510 M NaOH was needed to neutralize 50.0 mt-ef-an . on. What is the
concentration of the original sulfuric acid solution? Be sure to write a balanced equation.
ANaOR g+ |4y 50, (g —> Aho &) + M, S0,
3HExmL So.omL

o.lr/g_rW:_L /;/&g)(] | Mook |
| 34.6 0.15ie ] | ol By _ )
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CHM151 Quiz 5b 25 Pts .Fall 2012 Name: X eg
****x*SHOW ALL WORK TO RECEIVE CREDIT*****

1.(6 Pts) Write the total ionic and the net ionic equations for each of the following reactions.

a. Pb(NO3)x(aq) + INHsl(aq) > R NHNOs(aq) + PbI,(s)
.= + - : ‘
total ionic: .Pb&* +%’O3 + Q/N’H(i +&I - Mq‘r -+ &W + PAI;(S}

VT o+ 2Tt — P I.®
net ionic:
st acid
b. H)‘Cblyg3(aq)‘ + KOH(aq) » H,O() + KCl10s(aq)

+ -
total ionic: H++w— /K/r-l-Off — H o) + J;/ +993

Bt o+ OH® = Heo @

net ionic:

w eAlRasid
c. HF(aq) + KOH(s) > H0(0) + KF(aq)
total ionic: H F&S) + KOHw = H;O@'P Kt + F
2 KR oK _
L flaccept 1one . AT FF

net ionic: N F e?rl- KOoH © - Hs0 _
o HF + DH Lech2- ol « F

=+ wa
2. (8 Pts) Given the reaction: 4NH + 3Ca(ClO —) 2N + 6H O +3Ca 1
(8 Pts) et 3 (CIO), Ny, 2 ’C 2

a. cL is reduced froma l chargetoa — l charge.

3 ~—
b. /\/ is oxidized from a - 3 chargeto a o) charge.

C. N H 2 is the reducing agent and Ce ( C«CO) 3. is the oxidizing agent.

3. (5Pts) A 6.691 g sample of MgCl, is dissolved in enough water to give 750. mL of solution.

a. What is the magnesium ion concentration in this solution? m } /\'3 PR
C.6T g Mgt |  pwst | Lol My | =(0.0937/ —=
\ ‘imoﬁ[] [ malpget, | 0. 7500

ni

b. What is the chloride ion concentr s this solution? .,

|2y
4. (6 Pts) 54.62 mL of 0.1510 M NaOH was needed to neutra?ze 50.0 mL of an H,SO, solution. What is the

concentration of the original sulfuric acid solution? Be sure to write a balanced equation.

2 Nao H(f-*ﬂ + Ha S0ye)~—=> QH 0 + My Soy (25)

S-H,Clm{. So.pmi

0. 180 mo) 6.0 Moo

S 540 M! 0. 1510l / [ ol hoty,
O r

0.050014{30? Y he o%ﬂ PN ey




